2) Phose trouvition models : the Cahu - Hilliard model and the 28.11.2024 Modice - Mortole theorem Classical Hodel: (n=3) Phase reparation 1) Courider a coutainer filled with 2 immiscible and incompressible fluids example : oil and water; two different phases of the same fluid. like ice and water at o. 2) In the classical theory of phase transitions it is assured that, at equilibrium, the two liquids arrange themselves in order to minimize the area of the interface which separates the two phases. Remork: We are neglecting any possible interaction of the fluids with the wall of the container and the effect of gravity. · We would like to mathematically model the previous situation: • Let $\Omega \in \mathbb{R}^3$ be spece, bounded and regular enough \mathcal{N} the constainer • Let u: Ω → { 0, 1 } ~ vo every possible couliguration of the system, where fu=oz = set occupied by the first fluid qu=13 = set occupied by the record fluid · Denote Su the singular set of a (set of discontinuity points of a), which is the interface between the two pluids. ⇒ By (2) the interface Su is a minimal surface $\{u=1\}$

Denote orb
$$(\Omega)$$
 the orbine of the container Thue, the space of adminible
configurations is

$$\begin{cases} u: \Omega \longrightarrow \{o, s\} : \int_{\Omega} u(x) dx = V \\ \\ uhene V is the total orbiner of the second fluid st. or V < orb(\Omega). \\ \hline (LAME: We possible that the equilibrium configuration is obtained by maintinizing
the surface energy distributed as is and defined as
$$F(u) = T H^2(Su), \quad writh u adminible configuration. \\ Here T is called the surface tension between the two fluids and He'(Su) is the 2D. Haudriff meanse of the interface Su.
Vou der Walls - Calu - Hilliard Hodel: those transition fluids and He'(Su) is the 2D. Haudriff meanse of the interface Su.
Vou der Walls - Calu - Hilliard Hodel: those transitions (which is solutified, ou a macroscopic lawel, with the interface).
Remark: In this second care we allow for a fine mixture of the fluids.
Hothemotically specking:
• Set u: $\Omega \longrightarrow [o, \ell]$ denote the sources obtained denoty of the second fluid of our print x E Ω .
Example: $u(x) = 2 \Rightarrow only the first fluid at x
 $u(x) = 2 \Rightarrow only the second fluid
• The space of adminish configurations then becomes $\frac{1}{2} u(x) dx = V$.$$$$$$



$$\begin{array}{c} \underbrace{\operatorname{Remark}:}_{E_{t}} \text{ is well defined viewon u \in W^{4,2}(\Omega).} \\ & \operatorname{Noke} that the term \int_{\Omega} |\nabla a|^{2} dx \operatorname{regularized} the privation every field that the term \int_{\Omega} |\nabla a|^{2} dx \operatorname{regularized} the privation every field to the term that the value of the value of the value the value the value of the value$$

The quiption answerd by (De Ginge)-Hodico - Hotela is the meetore:
Q: Is then a colour scale
$$\lambda_{2} > 0$$
 st. $\lambda_{2} \in \underline{\Gamma} \rightarrow F$?
The Hodica - Hortola ($49 = 7$)
It Hodica - Hortola ($49 = 7$)
It $\Omega \in \mathbb{R}^{n}$ Be open and Rounded and denote the space of adminible configurations
 $X \doteq \left\{ u \in L^{4}(\Omega; [0, c]) \text{ s.t. } \int u(v) dx = V \right\}$
for $0 \le V \le vol(\Omega)$. Horeover, set $\tau \ge 2$ ($^{4} \operatorname{AW}(s)$ ds and for every $\varepsilon \in \mathbb{R}^{+}$ let
 $F_{\varepsilon} \doteq \frac{a}{\varepsilon} \in X \longrightarrow \mathbb{R} \cup \{\pm \infty\}$.
 $u \longmapsto F_{\varepsilon}(u) = \begin{cases} \pm \int u (u(v)) dx + \varepsilon \int \nabla u(u)^{2} dx, i \in u \in W^{4,2}(\Omega)$
 $u \longmapsto F_{\varepsilon}(u) = \begin{cases} \pm \int u (u(v)) dx + \varepsilon \int \nabla u(u)^{2} dx, i \in u \in W^{4,2}(\Omega)$
 $u \longmapsto F_{\varepsilon}(u) = \begin{cases} t = 0 \\ \pm \infty \\ 0 \\ t = 0 \end{cases}$, if $u \in X \setminus W^{1,1}(\Omega)$
and let $F: X \longrightarrow \mathbb{R} \cup \{\pm \infty\}$
 $u \longmapsto F(u) = \begin{cases} \tau \ \partial \{t^{m-1} \{ Su \}, i \notin u \in \mathbb{R}^{N} \setminus \mathbb{R} \cup \{t^{m} \cap \{ Su \}, i \notin u \in \mathbb{R} \setminus \mathbb{R} \cup \mathbb{N}^{1,1}(\Omega) \}$
 $u \longmapsto F(u) = \begin{cases} \tau \ \partial \{t^{m-1} \{ Su \}, i \notin u \in \mathbb{R} \setminus \mathbb{R} \cup \{t^{m} \cap \{ Su \}, i \notin u \in \mathbb{R} \setminus \mathbb{R} \cup \mathbb{N}^{1,1}(\Omega) \}$
 $u \longmapsto F(u) = \begin{cases} t \ \partial \{t^{m-1} \{ Su \}, i \notin u \in \mathbb{R} \setminus \mathbb{R} \cup \mathbb{R} \cup \mathbb{R} \setminus \mathbb{R} \cup \{ t^{m-1} \{ Su \}, i \notin u \in \mathbb{R} \setminus \mathbb{R} \cup \mathbb{R} \cup \mathbb{R} \cup \mathbb{R} \cup \mathbb{R} \cup \mathbb{R} \cup \mathbb{R} \setminus \mathbb{R} \cup \mathbb{R}$

As we abready soid. T represents a lower bound of the energentic cost of the tourition
and or
$$\tau \cdot tC^{*}(Su)$$
 is the much of jumps times the cot.
STEPS: (I limit inequality) - but u, ue X satisfy $u_{3} \longrightarrow u$ in $L^{4}(a,b)$ -stong
(so ue $ev(a,b)$) and let $e_{3} \circ o$ as $3^{n} + \infty$ the slow that
(b) $F(u) \in limit F_{e_{5}}(u_{3})$.
First mote that if limit $F_{e_{5}}(u_{3}) = too the dam is timed.
Assume then that $f_{initial} F_{e_{5}}(u_{3}) = too the dam is timed.
Assume then that $f_{initial} F_{e_{5}}(u_{3}) = too the dam is timed.
Assume the that $f_{initial} F_{e_{5}}(u_{3}) = too the dam is timed.
Assume the that $f_{initial} F_{e_{5}}(u_{3}) = too the dam of A_{3} the definition of $F_{e_{5}}$:
(a) $(u_{1} triangle F_{e_{5}}(u_{5})) = u_{1} = u_{1} = u_{1}$ (b) $(hound loop unce.
a.t. fine, the exists $C \in \mathbb{R}$ such that $F_{e_{5}}(u_{5}) \leq C$ and or, A_{3} the definition of $F_{e_{5}}$:
(a) $(u_{1} triangle F_{e_{5}}(u_{5})) = u_{1} = u_{1} = u_{1} = (u_{1}, b)$
($u_{1} triangle F_{e_{5}}(u_{5}) = u_{1} = u_{1} = (u_{1}, b)$
($u_{1} triangle F_{e_{5}}(u_{5}) = u_{1} = u_{1} = (u_{1}, b)$
($u_{1} triangle F_{e_{5}}(u_{5}) = u_{1} = (u_{1}, b)$
($u_{2} triangle F_{e_{5}}(u_{5}) = u_{1} = (u_{1}, b)$
($u_{2} triangle F_{e_{5}}(u_{5}) = u_{1} = (u_{1}, b)$
($u_{2} triangle F_{e_{5}}(u_{5}) = u_{1} = (u_{1}, b)$
($u_{2} triangle F_{e_{5}}(u_{5}) = u_{1} = (u_{1}, b)$
($u_{2} triangle F_{e_{5}}(u_{5}) = u_{1} = (u_{1}, b)$
($u_{2} triangle F_{e_{5}}(u_{5}) = u_{1} = (u_{1}, b)$
($u_{2} triangle F_{e_{5}}(u_{5}) = u_{1} = (u_{1}, b)$
($u_{2} triangle F_{e_{5}}(u_{5}) = u_{1} = (u_{1}, b)$
($u_{2} triangle F_{e_{5}}(u_{5}) = u_{1} = (u_{1}, b)$
($u_{2} triangle F_{e_{5}}(u_{5}) = u_{1} = (u_{1}, b)$
($u_{2} triangle F_{e_{5}}(u_{5}) = u_{1} = (u_{1}, b)$
($u_{2} triangle F_{e_{5}}(u_{5}) = u_{1} = (u_{1}, b)$
($u_{2} triangle F_{e_{5}}(u_{5}) = u_{1} = (u_{1}, b)$
($u_{2} triangle F_{e_{5}}(u_{5}) = u_{1} = (u_{1}, b)$
($u_{2} triangle F_{e_{5}}(u_{5}) = u_{1} = (u_{1}, b)$$$$$$$

• White that
$$\int_{a}^{b} u_{y}(idx = V + y_{y}e_{x}h)$$
 implies that $\int_{a}^{b} u_{y}(idx = V + y_{y}e_{x}h)$.
However, note that $\sum u \neq y$. Otherwise, we have only two percellation:
(1) $u = 0 \Rightarrow \int_{a}^{b} u_{y} dx = b - a > V$.
• Let $|Su| = N$ and $t_{x}, ..., t_{y}e_{x}f_{x}$. For any i.e.f $x_{1}, ..., N_{y}^{2}$ then exist $a_{x}^{+}, a_{x}^{-}e_{x}(a, b)$ s.t.
(1) $u_{x}^{-} x t_{y}^{-} x a_{x}^{+} x a_{x}^{-} x_{x}$
(1) $u_{x}^{-} x t_{y}^{-} x a_{x}^{+} x a_{x}^{-} x_{x}^{-}$
(1) $u_{x}^{-} x t_{y}^{-} x a_{x}^{+} x a_{x}^{-} x_{x}^{-}$
(1) $u_{x}^{-} x t_{y}^{-} x a_{x}^{+} x a_{x}^{-} x_{x}^{-}$
(1) $u_{x}^{-} x t_{y}^{-} x a_{x}^{+} x a_{x}^{-} x_{x}^{-}$
(1) $u_{x}^{-} x t_{y}^{-} x a_{x}^{+} x a_{x}^{-} x_{x}^{-}$
(1) $u_{x}^{-} x t_{y}^{-} x a_{x}^{-} x_{x}^{-}$
(1) $u_{x}^{-} x t_{y}^{-} x a_{x}^{-} x_{x}^{-}$
(1) $u_{x}^{-} (a_{x}^{-}) = u_{x}^{-} (a_{x}^{-})$
(1) $u_{x}^{-} (a_{x}^{-}) = u_{x}^{-} (a_{x}^{-})$
(2) $u_{x}^{-} (a_{x}^{-}) = u_{x}^{-} (a_{x}^{-})$
(3) $\lambda^{+} a_{x}^{-} x_{x}^{-} (a_{x}^{-})$
(4) $u_{x}^{-} (a_{x}^{-}) = u_{x}^{-} (a_{x}^{-})$
(5) $u_{x}^{-} (a_{x}^{-}) = u_{x}^{-} (a_{x}^{-})$
(6) $u_{x}^{-} (a_{x}^{-}) = u_{x}^{-} (a_{x}^{-})$
(7) $u_{x}^{-} (a_{x}^{-}) = u_{x}^{-} (a_{x}^{-})$
(8) $u_{x}^{-} (a_{x}^{-}) = u_{x}^{-} (a_{x}^{-})$
(9) $u_{x}^{-} (a_{x}^{-}) = u_{x}^{-} (a_{x}^{-})$
(1) $u_{x}^{-} (a_{x}^{-}) = u_{x}^{-} (a_{x}^{-})$
(1) $u_{x}^{-} (a_{x}^{-}) = u_{x}^{-} (a_{x}^{-})$
(1) $u_{x}^{-} (a_{x}^{-}) = u_{x}^{-} (a_{x}^{-})$
(2) $u_{x}^{-} (a_{x}^{-}) = u_{x}^{-} (a_{x}^{-})$
(3) $u_{x}^{-} (a_{x}^{-}) = u_{x}^{-} (a_{x}^{-})$
(4) $u_{x}^{-} (a_{x}^{-}) = u_{x}^{-} (a_{x}^{-})$
(5) $u_{x}^{-} (a_{x}^{-}) = u_{x}^{-} (a_{x}^{-})$
(6) $u_{x}^{-} (a_{x}^{-}) = u_{x}^{-} (a_{x}^{-})$
(7) $u_{x}^{-} (a_{x}^{-}) = u_{x}^{-} (a_{x}^{-})$
(8) $u_{x}^{-} (a_{x}^{-}) = u_{x}^{-} (a_{x}^{-})$
(9) $u_{x}^{-} (a_{x}^{-}) = u_{x}^{-} (a_{x}^{-}) = u_{x}^{-} (a_{x}^{-})$
(1) $u_{x}^{-} (a_{x}^{-}) = u_{x}^{-} (a_{x}^{-}) = u_{x}^{-} (a_{x}$